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Part A . 4 ’
Answer dll the questions. - )

1 wezghtage to each.

Define iconic models.

‘Network diagrams must be timely ﬁpdated, Why ?

What is critical path ?
What can be inferred from sxmplex method of LPP ‘P

‘When is the game sald to be fair ? -

What is the outcome of uncertamty in declsmn makmg ?

_ (6 % 1 = 6 weightage)
Part B | ‘

_ Answer any four questions from the below questwns
(3 welghtage to each)

-What are the uses of Transportatxon model ?

You are glven following pay off matrix. From the followmg pay oﬁ" matrlx and cietaﬂs, calculatu
EMV and decide which of the Acts can be chosen ? /

v Pay off table N
Perfume | Sales1(S1) | Sales 2(82) | Sales 3 (S8)
Al 25 400 650
a2 | "1_»10. ] a0 | 0
A3 125 | 400 | 750 -

' Turn over
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10.
11.
12.

13.

14.
15.
16.
17.

18.
 merely preparing the bid will cost £10.000. If their company bid then they estimate that thereisa -

_ Explam the conecept of Monte Carlo snnula,txon

2 - Cs2136

- The-manager of an oil refinery must decide on the optimal mix of 2 poSéible blending p_rocésses of
which the inputs and outputs per productlon run are as follows :

SLNo. | CrudeA | CrudeB | DieselX “Diesel Y
1 6 | 38 | & 9
2 5 R ] . B : 5

Maximum avallablhty of crude A and B are 250 units and 200 umts respectwely The market

requirement shows that at least 150 units of Diesel X and 130 units of Diesel Y must be produced.

The profits per production run from process 1 and 2 are Rs. 40 and Rs 50 respectlvely Formulate

" the problem for maximizing the profit.

Explain the objectives of network analysis. .
What are the charactenstlcs of a decision maker ?

What charactemstlcs should a good model possess in order to be effectlve pd Enumerate

4 x 3=12 welghtage)

Part C

Answer any three from the following questions.
4 wetghtage to each

Linear programmmg is a powerful quantitative teehmque which is useful to solve problems Explam :

through examples -
Explam the steps involved in solvmg a problem usmg sc1ent1ﬁc mei,hod
Explain degeneracy in detaﬂ

What are the steps to be followed in solving a Management Transpertatmn problem ?-

Part I

Answer the question below.
(6 weightage)

A cempany is frymg to decide whether to bid for a certam contract or not They estimate that

50% chance that their bid will be put on the "short-list", otherwise their bid will be rejected.

" Once "short-listed" the company will have to supply further detailed information (entalhng costs

10.90, 0.75 and O 35 respectively.

estimated at £5,000). After this stage their bid will elther be accepted or rejected.

The company estlmated that the labour and materlal costs associated with the contract are £127,000.
They are conmdemng three possxble bid pnces, namely £155, OOO £170,000 and £190,000. They .

estimate that the probability of these bids being accepted (once they have been short-listed) is

(3 x4 =’ 12 weightage)

(1x6=6 _wei.lghtage), -
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